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1905

· Autocracy is a system where those at the top are only accountable to themselves.

· Mid-19Cth Czarism is out-of-date.

· A3 is tough enough to hold the system together (he doesn’t solve the problems though), his son N2 was weak as a ruler.

· N2 wife was strong but not able. 

There was not unity between urban, educated middle class elites and peasants.  Peasants felt as alien from them as from the Czar.

Czar was strong up to 1905; army always loyal, people were deferential to the Czar – tended to blame his officials and not him for their problems.

Short term Causes of 1905 rev.:     

· Losing war to Japan.

· N2 withdrew from political life after the defeat therefore affects stability.

· Liberal opposition openly criticised the Czar, holding banquet campaigns in St Petersburg in 1904 – the govt did not react.

B Sunday followed a traditional format of presenting a petition to Czar in your best clothes therefore it is difficult to see why it was interpreted as revolutionary.

N2 announced 2 weeks later he forgave the workers for B Sunday.

WC annoyed and now enter political life of Russia.

October General Strike: 1905

Bosses support workers + provide food for them.

Liberals support the strike.

Witte warns N2 he can’t carry on being violent.

This is the HIGH POINT of the 1905 Rev…

Parallel revolution but separate ongoing in the countryside:  peasants try to drive landlords away by burning their houses (but not attacking them).  C. 2000 cases of this in 1905.

Oct Manf = govt begin to gain the upper hand as opposition divides.

1906: soldiers under Stolypin brutally take control of the countryside; soldiers shoot/flog/burn.

By 1907 Russia is different to 1904.

· Urban and rural revolts crushed.

· Duma established however weak.

· Image of Czar damaged.

· Peasants and WCs believed the Liberal MCs sold out over Oct Manf.

1905 did not replicate exactly what would happen in 1917 but as the Czar did not deal with the problems it made future revolution much more likely.
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Post-1905 Causes of Revolution

Revolution is a process not an event.

Revolution is about a collapse of state power.

A state’s laws must always be backed up by force or it can’t legitimate itself.

The state must have the monopoly of organised violence.

For a revolution to succeed a state’s force must be a. neutral b. pro-revolutionary c. split or d. opposed by revolutionaries with their own violent power base.

“February Days” sees lots of soldiers refusing to obey orders.  

Once Petrograd garrison refused to obey orders a revolutionary chain of events begins.

WW1

Successes

Russia situation only as bad as elsewhere (?).

1914 - Russia initially successful, reached Prussia before getting slaughtered.

1916  - Spring, Brusilov Offensive; General Brusilov launched a very successful attack on A-H forces and broke them as a major force in the war.

WW1 Economy

May 1915 – Czar’s govt forms “Special Council for Defence”.

End of 1915 SCD running 2000 factories.

End 1916 Rus economy is 20% bigger than in 1913 and is outproducing Ger and A-H together: this is huge growth as economy was still expanding in 1913.

German Tactics

Germany thought Russia could not be militarily beaten and decided to try to weaken Russia by sending in political radicals; Lenin sent via sealed train to Russia in April 1917.

Duma

Duma told Czar to use his most able ministers in war govt.

Czar refused and ignored Duma from 1915.

Progressive Bloc in Duma worried that a revolution would mean the end for them a-w-a the Czar thus they became more vocal in opposition.

Short Term Cause of 1917 Revolution

Railways commandeered to take weapons to war front = no wagon space to take available grain to Petrograd = inflation of food prices in Petrograd = riots…

Perspective:  success of the war effort put great strain on the running of the cities hence breakdown of power in Petrograd.

The Duma Monarchy 1905-1914

You can’t make an empire a democracy: paradox.

June 3rd 1907: Stolypin abolishes Duma 2 and for the last 2 dumas only 16% of males could vote, the wealthier and higher classes.

Stolypin aimed to give peasants their own small plots of land.  He hoped giving them land would make them more supportive of the Czar and more conservative.

1910: industrial growth due to weapons building but this end product does not improve S of L for workers.

None of Stolypin’s initiatives improve life for the urban working classes.
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The February Revolution: 1917

In Feb ’17 there is a rev on 2 levels.

1. Street level = Petrograd Soviet

2. Czar abdicates = Prov Govt.

Elites became “reluctant revolutionaries” when they realised Czarism was doomed.  They acted to stop revolution but only exacerbated the situation.

PS didn’t see themselves as a rival govt initially – just a lobby group advocating rights for workers.  They worked with PG to stop a return of Czarism.

PS had support of Petrograd garrison and thus demanded they remain to stop PG using other troops to attack them.  Troops often more radical than PS though and appointed own officers.

PG said they’d have elections but knew they’d lose so kept postponing them.

People very quickly adapted to life without a Czar and few it was better when he was in charge.

Mar – July ’17: Radicalisation

· Carrying on war was unpopular.

· Soldiers would defend Russia but not go on offensive.

· Peasants seized land and PG were against this though they wanted to deal with the problems.

July Days

Lenin was against this uprising because he was not in control of it.

Bolsheviks didn’t seize initiative, Lenin escaped to Finland and Trotsky was arrested; it looked like they had lost their opportunity.

Why are the Bs able to come to power in Oct rev?

· Lower orders fear a Kornilov style takeover of govt and an oppressive rw regime.

· Neither L nor R trust Kerensky after the Kornilov affair.

· Bs learn to reflect aims of the masses not tell them what to believe.

· B leaders conceal their deeper ambitions e.g. world revolution.

Bs come to power because of short term factors.
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Source Paper Technique
Q1. Comprehension & Inference

Q2. Own knowledge

Q3. Corroboration/Cross-reference

Q4. Utility

Q5. Essay

Tips

Q1: Don’t over quote sources – you have to show examiner you understand in your own words.

Q3: “To what extent they agree/disagree” – make a judgement, write about both sides though not necc to the same extent.

Q4: Be specific to purpose.  Don’t overdo what source isn’t useful for.  Don’t talk exclusively about provenance – cite content also.

Q5: You are asked to make a judgement – has to be a “yes but…” or “no but…” answer.

